N\
ns INSTALLATION INSTRUCTIONS
/ )

Y
F I SH B O N E é(/(( PART No. FB22392

OFFROAD X3
14-21 Toyota Tundra
Front Winch Bumber

2

VIDEO AVAILABLE

REQUIRED TOOLS KIT CONTAINS
18mm Socket Front Bumper
14mm Socket Mounting Bracket
M12 Hex Bolt
Help of a friend M12 Washer
M12 Flanged Nut
M6 Screw
M6 Nyloc Nut
Pod Light Bracket

—
<

NoOoPrpA~bANEFEO

2239200

950 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



\\\\

1) REMOVE EXISTING BUMPER

Begin removing your vehicle’s existing front bumper
and sensors. We show how to remove and
disassemble your factory bumper over at

www.YouTube.com/FishboneOffroad

FISHBONE

OFFROAD

ASSEMBLE
Install your winch into the bumper..

2)

3)

Assemble the bumper by loosely securing the
mounting brackets with the included hardware with
an 18mm socket.  Their orientation can be
determined by the sides with the three bolt holes
facing outward.

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452

PART No.

INSTALLATION INSTRUCTIONS
FB22392

14-21 Toyota Tundra
Front Winch Bumper

Install all your sensors, pod lights, and power
harness. Depending on the type of pod light you
purchased, you may need to use the pod light

brackets and M6 bolts to mount your light.
7

INSTALL

With the help of a friend, Secure the bumper to the
frame with the factory hardware, using a 14mm
socket. Once secured, adjust and center the
bumper, and fully tighten the mounting brackets.

2239200

330.423.6446 WWW.FISHBONEOFFROAD.COM


http://www.youtube.com/FishboneOffroad

